dahAfAga & - (Rreer) - 9§ |.1408 /
TECHNICIAN B — (FITTER) - POST NO.1408

1. efaf@a & @ 931 g9 o & AT AT SR &1 aheT AL

From the following select the commonly used tool for laying out large circles
a) fasmste/Divider

b) gATRIEEe Hfera/Hermaphrodite caliper

¢) s#o/Trammel

d) &rssR/Scriber

2. 9faeq AT garr daed 9faed qur #R 999§« & v Feafafaa & @ e
39er R Sar 82

Which among the following is used for laying out casting patterns and core boxes by
pattern makers ?

a) Felfeaad Fe/Flexible rule
b) eIf¢ wat/Short rule

¢) A% ®a/Shrink rule

d) g ®a/Hook rule

3. 'V'sdied HAYURITTAT IUTetds Hid-8 87
Which are the commonly available grades of 'V' blocks ?

2) 0 & 1
b)1&2
) Al & A2
d)A&B

4. ThIER & FHAOT ] ARV 9god ey &1 T+ |
Select the material commonly used for making scribers

a) fear @er/Wrought Iron

b) 3Ta &Ea sEIA/High carbon steel

¢) Ag sEara/Mild steel

d) sEa/Bronze



5. S [feaX fAsearg # et & 3refrarAefafad gew g
The alloy German Silver has the following elements, apart from Copper.
a) feeT 3 i®/Tin and Zinc
b) €@rara fSi/Lead and Zinc
¢) e a fashe/Zine and Nickel
d) @& g fa%e/Lead and Nickel

6. frfaf@a # & 99T g2 & T ARV TgFd gerd iq-ar §?

Which among the following is a common material used for bearing bushes?

a) Salshlsial/Inconel
b) draer/Copper
¢) vafAfAIHA/Aluminium
d) 1 AT/Gun metal
7. SR $EATd & HET FECH ............... gl
The main constituents of stainless steel are:
a) oitgr, sifaga, el @ @resi/Iron, chromium, nickel and carbon
b) &1gT, SIee, HAIA g aeest/Iron, carbon, chromium and tungsten
c) otgr, fA%her, e @ dxf3#/Iron, nickel, carbon and vanadium

d) oler, faeher, SIeaT g Eareest/Iron, nickel, carbon and tungsten

8. FAfaf@d Adheul H & TH WISd T dfSd HORdAT HI TIA B |

Select the Desirable hardness of a file from the following options.

a) 85 HRC
b) 30 HRC
¢) 60 HRC
d) 90 HRC



9. o FIEeT 3EATT H FIET H ............ gfaerd gidr gl
Low carbon steel contains --- % of Carbon

a)0.1 t0 0.3
b) 0.01 to 0.1
¢) 0.3 to 0.35
d)0.3to 1.6

10. fAe=faf@d & & Th Y # FH A gles WA & AU JYFd U 8 81 3HHT oAH
ey
One of the following is not a work holding accessory of a lathe. Name it.
a) AW efean(%hd coic)/Face Plate
b) #ze/Mandrel
¢) &a ceie/Catch Plate
d) @ew deRer a&/Self Centring Chuck
1. AT T G o fAfda g &
Crane hooks are generally made of
a) 3Ta &ee Tera/High carbon steel
b) fear @er/Wrought iron
¢) gerar s&urd/Cast steel
d) Terar igr/Cast iron
12. 73l T # We[ ST Y ... Fgd gl
In a drill bit the angle of the flute is known as ------
a) ¥& @u/Rake Angle
b) dfge HIvT/Point Angle
¢) gferrd +Iv/Helix Angle
d) fog &IoT/Lip Angle



13.

14.

15.

16.

feAfafd & @ Si-ar urg &1 JifFew qoreed 7@t §?

Which one of the following is not a mechanical property of a metal?
a) @aTRoT gfa’rer/Corrosion resistance

b) ser/Strength

¢) FoRdr/Hardness

d) %&res1/%Elongation

a) fFera®@ &1 3Ta/Clearance angle is high

b) fFerai® @ivr e=a/Clearance angle is zero

¢) ¥& HIuT 3=d/Rake angle is high

d) 3mafa o7 fAF1/Angle of inclination is low

T & I & o & @l AR & AT IuPFd 37 TR A Ggad Y, FqH FHAT 56 &
|IY golg AU Tf &I Hee @ FHAIRK H Goldm gl

Identify the spanner, suitable for all sizes of nuts in a range,which has jaws with plain
surfaces that open parallel with the help of a screw.

a) Rer TWR/Ring Spanner

b) ieareT(Ra)/ Torque wrench

¢) gt grar (R&)/Pipe wrench

d) #HT F/Monkey spanner

ST s & 8Usd e & fAU ggad qerd @ aaT H|

Select the material for making the spindle of the bench vice.

a) g $FIa/Mild steel
b) gefar @gr/Cast iron
¢) 3SR gEara/Tool steel

d) Ea/Bronze



17.

18

19.

20.

ASHIHCT F 3H HET FT ATH g0 ST JATYT & Rl Rl Jig & TAW S FIH W &
eI gl gl

Name the part of the micrometer that helps in maintaining uniform pressure on the job
during measurements.

a) @ ¥erd/Ratchet stop
b) RfTa/Thimble
¢) dieh sic/Lock nut

d) 3uded & & 1S =g/ None of the above

L FTEER AT e, & fow g 8l

Counter-bores are provided to

a) diehe T TF 88 Wel/Accommodate sockets and screw heads
b) &l & &R Fr &Y FA/Deburr ends of holes
) Tgol ¥ 3 fohw 710 BGh & F&F 3R H 37 et/

Enlarge pre-drilled holes to exact size

d) Rae fi IR F=A/Form rivet heads

g ST & Sroel(RTH) & fav Rhe & qod 3fa e o7 &1 a9geT A
Select the most appropriate cutting angle of the chisel for chipping Mild steel

a) 70°
b) 65°
c) 55°
d) 45°

U T IRrS fAfdeeT g AT gich 81 frtaiad # O JfehdH e § obd I T e
A

Depth of thread varies from type to type. From the following, choose the thread with
maximum depth

a) 331 Ya/Square thread
b) vFAdT/Acme thread
¢) 3 Ya/Worm thread

d) sge® da/Buttress thread



21.

22.

23

24.

9T & & U T uren(¥@) W) AfooTd/dIsidRd gEded & H6T T Ugdie H|
Identify the part of a hand tap which gets assembled to the tap wrench for thread cutting.

a) &31/Tang
b) grel/Heel
¢) gi%/Shank
d) were/Flute

FeIC ol 3T & H9Y A Al & & Hia-d@ 3fFa @y 767 87
Which of the following is not true about a flute less tap?

a) g ®15 9 a1 7T VIt does not produce any chips

b) TE TH BT YT IR FeTd Il /1t provides a good surface finish.
¢) 39 ufhar & faw favumasr fafer &1 g foear Srar &

Displacement method, is used in this process

d) 39ded & & #$ 7gi/None of the above

. TAfAfATs S & 3ieT g 9 Al Hehrell w1 FE A R gl

Most unsuitable method for removal of a tap that was broken inside an aluminium job?

a) ¢ faseds fafe/Tap extractor method

b) 3% desar faf/Arc welding method

C) 3eltelel d dess fafd/Annealing and drilling method
d) 39d&d & & &I €/ None of the above

oI o & TBal & aRsehd atel & fov fha Shox & 3u2eT fhar ST §?2

Which scraper is used to finish holes of small diameter?

a) g Thaw/Hook scraper
b) Felc Eha¥/Flat scraper
¢) g1 #r ThaX/Bull nose scraper

d) Rsofir That/Triangular scraper



25.

26.

27.

28.

& Tolel &l Teh a1y NaAfed el & Fa9 H ITad HUA &l Igdied |

Identify the false statement about riveting of two plates together

a) TR (PiTehaT), Tolel & fhaIRT H ST ST §
Caulking is done on the edges of the plates

b) aRRA(FITeR), o fF Rae T & Fir S §, 330 TR wolet & Fart & o &
ST §
Caulking is done on the edges of the plates as well as that of the rivet heads

¢) Wid(PeaRan), i f Rae o & & ol & 38 JaR coet & ARt & o &
Sl &

Fullering is done on the edges of the plates as well as that of the rivet heads

d) Wide(PeaRan) coet & fhart & & Sl §

Fullering is done on the edges of the plates.

T Wil T (cgrer) T fafaders “ 50 C46 HS5 E18 7 &1 36 3R ‘H'#ar giad & §?
The specification of a grinding wheel is “ 50 C 46 H 5 E18 ”. What does the letter ‘H’
indicate?

a) 33/Grade

b) b)sur @ES/Grain size

¢) 39edt gehr/Abrasive type
d) &x@=/Structure

hed & foh geffepeor & 37eX Ssfder fhe 3mar &7

Under which classification of fits, does a driving fit fall ?

a) fFeraid fhe/Clearance fit

b) &shAUT e/ Transition fit

¢) cafaeor fhe/Interference fit

d) aefieper w7gT fohar S Fehar/Cannot be classified

3H HIIT T AT g0 a8 afeRR Hfouw &1 3oy a) (83) Aer 741 gl
Name the part to which the depth bar of a Vernier calliper is attached.
a) 2R Thal/Fixed scale

b) 3w T&hel/Vernier scale

¢) Tl gej(<i)/Movable jaw

d) &\ gHS &p/Fine adjustment screw



29.

30.

31.

32.

farafaf@d & @ T a9t iR & &1 = ggae

From the following, identify the function of a taper square drift.

a) AN FIsar @ 3T 1 fAerelei/Removing a drill from the machine spindle
b) AT RBUser & @& A @em=/Fixing chuck on the machine spindle

) F ¥ ¢¢ ¥s/Eh A faeprerel/Drawing a broken stud/screwfrom the work
d) 3T Tu=T g1 #a/Drawing a drill location

Ufclar 9 AR & for @e@ 3fd geffentor =)

Select the most appropriate classification for rolling contact bearings.

a) T¥URTEN 99R@/Antifriction bearings

b) gearey agRen/Elastic bearings

¢) def Ffgd STRa/Thin lubricated bearings

d) oo EAfga sR@/Thick lubricated bearings

AT AT g AT AT & 37T BT e, FEd ol

The difference between the True value and Measured Value is known as

a) A9 T Ffe/Error of measurement
b) aReewrdrn/Precision
c) geadi/Tolerance

d) 3w # & #$ wE/None of the above

HATh TR T & TR F TIT H|
Select the taper of a standard taper pin.
a)l:10

b) 1:20

c) 1: 40

d) 1: 50



33.

34.

35.

36.

frafof@d & @ &9 aneR & 96 & d9y & F9u 3T F1 a9 H|

Select the most appropriate from the following : which is a function of tab washer
a) 97 &ael/Thread cutting

b) AT sERt & I g¥oT A FA FAVReduce friction between mating fasteners
) 91 H Fd=I/Avoiding vibrations

d) /¢ 1 @i we/Locking the nuts

@ & @ 59 ac F F9q 997 F Asda a1 wsR R sa9¢ @r a1 §?Which of
the following, has a nylon or fibre ring insert placed in the upper part of the nut?
a) isT sic/Sawn nut

b) ar”R @fe/Wire lock

¢) ¥ drfehar AAe/Self-locking nut

d) &ger se/Castle nut

feAfaf@d & @ Sie-ar grehfae rvest 7@t g2

Which of the following is not a natural abrasive.

a) Farcst/Quartz

b) fafas= rstz=/Silicon carbide

¢) ®RsA/Corundum

d) #mDiamond

3 FSAT 399AR UfRAT &1 A IdY, fSaH UE SR & R F ag INfEd deedm
TR gIod A & AT 38 G arda g efafod e S g2

Name the heat treatment process in which after hardening a tool, it is reheated and
cooled to get the required property of toughness.

a) I/ Tempering

b) @A/ Normalising

¢) & HoRuT/Case hardening

d) o1 FeRoInduction hardening



37.

38.

39.

40.

Ife T usy F §gd g FT yag & 60 e 9fd B qur yag J9r 10 cm/s &, @ 39
qisq & &%l I Il oldNy|

Calculate the area of a pipe, if the rate of flow of aliquid in it is 60 litres per minuteand
the flow velocity is 10 cm/s.

a) 40 cm®
b) 60 cm?
¢) 50cm?

d) 100 cm?

'GO'T 'NO GO'......cooovvvrnee & T & T A G sma g
'GO' and 'NO GO' are provided on the sameendina

a) &9 gATd/Snap gauge
b) s&cl TUs3 Terer YAT/Double-ended plug gauge

¢) IReTs gATd/Depth gauge

d) germ#HT gAY/ Progressive gauge

fFAfai@d & & FoiT N-m/s 94T dIce AFD & §id H oY HiA-ar g?
Which of the following is the relation between the units of energy N-m/s and Watt?
N-m

a)l s 0.36 Watt

b)1 =" =3.60 Wat

)1 N_Tm = 1 Watt

d) 177 = 9.81 Watt

m’# 400mm e FUr 200mm WSE F IFT HAAHR SE ToiT F AT FT Il
oMU |

Eli?d out the area of a rectangular steel plate with 400mm length and 200mm width in
a) 8m’

b) 0.8m*

¢) 0.08 m*

d) 0.008 m*

10



4]. frafaf@a # @ XU HP. = kW& Hdhecad &1 TI7 |
Select the closest from the following % H.P. = ----kW

a) 0.4145
b) 0.5593
¢) 0.7581
d) 1.0121

42. 3T & TH sl I AR 62 kg T 8g &1 A=faf@a & ¥ @ [Aeew 31 |
The weight of a block of steel is62 kg and 8g. Write the correct option from the
following.

a) 6280 g
b) 62.8kg
c) 62.008kg
d) 62.08kg

43.3f% (a™)"=a™ §, a (2°)’F @& A T gar |
If (a™) = a™, choose the correct value of (2°)%.

a)128
b) 64
c) 32
d)16

44, 36% -24%F AT FT IAT T
Find the value of 36° -24°

a) 720
b) 800
c) 820

d) 500

11



45.

46.

47.

48.

T 5 kg dUT gERT 500g F JFd e Hahad g1 el F AR AT Jolell |
There are two castings, one weighing 5 kg and the other 500g.Compare the weights.

a) 1:10
b) 5:1
c) 1:5
d) 10:1

I TH Hel N g A 12099, 70uSATCIS aAr 110318 §, ar 6:15 A ... ®
fae &l

If 120 apples, 70 pineapples and 110mangoes are there in a fruit Store, then the ratio
6:15 is for

a) @9 g 3MA/apples to mangoes

b) @9 & UrsUTTa/apples to pineapples
c) @ & wr wer/apples to all fruits

d) 3mA & @«d/mangoes to apples

g ... Rgaiad W & &ar g1 Red s &t 37a 33 @ a1
A Hydrometer work on the concept of ------- . Fill in the blank with the most
appropriate.

a) =g 1 fagdA/Newton’s Law

b) fA#T 3rard/Mixing Ratio

¢) 3maf@s® 3mgar/Relative Humidity
d) 3ccarashdr/Buoyancy

afaf@a & afeer afr &1 a7 sam)

Name the vector quantity in the following
a) Ed9/Momentum

b) «fFd/Power

¢) argATd/Temperature

d) ®=/Work

12



49. fRFATi@a # @ A N-m T ST & & T HE TG T 572
Which of the following is the correct relationship between the units N-m and Joule ?

a) IN-m=10J

b) IN-m=9.811J
¢) IN-m=11J]

d) IN-m=0.9811J

50. afy A7 +B*=52a AB =24% ar (A+B)& Ao & qaT oMy
Find the value of (A+B), if A>+B*=52 and AB =24.

a) 12
b) 8

c) 14
d) 10

5lafg \x—y=23a /x+y=V14% @ x & A & I 9|
Find the value of x if /x—y = 2and\/x+y = V14
a) 9
b) 4
c) S
d) 8
52. 3R =ara(d) @ gd IAA(V) & JFd defellhR U & Gd HIGH HT Fu1S 1 ol o9
e Tohd wie{e &1 39TNer fohar e 82

Which formula is used for measuring height of liquid column of a cylindrical vessel
having inner diameter (d) and liquid volume(V)?

_nv
a) h= 74

v
b) h_dzn

4V
C) h=§

_av
Qb

13



53.

54.

55.

56.

60cmuRd & JFd UAThR HISET scllch & Fel JSIF &ABel HT Il FIMT|
Find out the total surface area of a cubical wooden block with side 60cm

a) 2.16m’

b) 0.216m’
¢) 0.384m’
d) 3.84m’

50mm SE$ & UTRd areiHTudsS & IRATT HT gl FIT|

Find the perimeter of rhombus which has a side of 50mm length.

a) 15 cm
b) 25cm
¢) 20cm
d) 30cm

Teh g H Wb R M oo & JeqaTd A g & fow ggwa frar S g
In a circle the Greek letter « is used to represent the ratio of -----------

a) 9Rf&/sara/Circumference/Diameter
b) BsamaRfa/Radius/Circumference
¢) egra/aRkfA/Diameter /Circumference

d) aRf/A=ar/Circumference/Radius

ffafea # @ ia-ar auas & F6fta §?

Which of the following is related to the temperature?

a) I Foil & Tk R g/lt is a form of energy

b) 38 Y HeX garT AT Sar g/1t is measured by calorie meter
C) Ig§ AT &1 Ush AT g/t is a measure of heat

d) 395 TH T dHanr g/1t has a unit calorie

14



57.1°C g@rr Igm & U 9erd & AT9HT & dolet & v BT FSAT T gerdy H o
FEd &l
The amount of heat required to raise the temperature of 1gm of substance through 1° C
is called as the ---------------- of the substance .

a) fafarse FwAT/Specific heat
b) @mder FwAT/Relative heat
c) faferse geica/Specific gravity
d) arfeehireca/Relative gravity
58. 3TUR AYAET & AGA & [T JgFd I Hlal-ar g§?

Which instrument is used to measure higher temperatures?

a) saraArd/Calorimeter

b) grggiHcy/Hydrometer

¢) UIsHCY/Pyrometer
d) ¥#AfAer/ Thermometer

59. Ffaf@a # & HIT-A1 9UH JHR & Idleleh(ella) F 361807 g7

Which of the following is an example for a first order lever?

a) & ¢ied/Coal Tongs
b) s& 93al/Brake pedal
¢) @i Ha/Nut Cracker

d) sgrer sR1/Wheel Barrow

60. Teh Tehel foig o & # O HI0T & AT FHY H & (P F Q) FaAt HURTMA el(R)................
& ST g

The resultant force(R) of two forces (P and Q) acting on a single point, with an angle 0
between them, will be equal to

a),/P2sin® + Q2cos6 + 2PQ
b) P* + Q*+2PQ Cos 6

¢)}v/P2 + Q2 + 2PQcos @

d)\/p? + Q2 + 2PQsin 6

15



61.

62.

63.

64.

T AfadAT TN &1 a1 fhdar &2

What is the momentum of a moving body

a) de x33/Force x Velocity

b) gegATAx d9/Mass x Velocity

C) geTATT xcaiol/Mass x Acceleration

d) STsca 3meoix dar Moment of Inertia x velocity

HUEIUT i TUT IIFAOT FAHTT F AT B .. Fgd gl
Ratio of shear stress and shear strain is called -----------

a) Tedr Are/Modulus of rigidity

b) carat 3tegare/Poisson’s ratio

¢) Jeareydr Junish/Elasticity coefficient

d) &Rt aqurier/Safety Coefficient

YT T e 7 8?2

What is Factor of safety

a) WA yfaser/31f®¥&as sa/Ultimate Stress/ Maximum Force
b) 31fwdA Fe/FRISERT gfdee/Maximum force/ Working stress

¢) WA gfdsa/dRIERT gfdsa/Ultimate stress/Working Stress
d) 3w # & #1$ wE/None of the above

3MeeT FSAREY Y ardr arereshar fhasr &2

What is thermal conductivity of an ideal heat insulator?

a) A/Zero
b) TH/One
¢) 3tid/Infinity

d) 78 & +Ig Ag1/None of these

16



66.

67.

a) [deoT & gfaee #H/at the intersection of diagonals
b) ATeT & 9k #H/at the intersection of the medians
C) &g 36T & U fdg w/at a point on the centre axis

d) 9 g #/at the centre of the base

A W TN FYS HT goddq 72 kg 81 AR e FT oed XA A 1/6 I &, A e |
Tl HT GeTATA fohcdell goT?

Mass of steel cube is 72 kg on earth. If gravity of moon is 1/6 times of earth, what will
be the mass of cube on moon?

a) 12kg
b) 864kg
c) 72kg

d) 144kg

T gl BF & A HT AT Fd dod, ol A 187 f3faerer aur v oler fBfaee arr
T AT 19ar B3 RAed el 7 3ed s F U 91T ITAT| TS HT AT fhaer &2
While measuring the diameter of circular rod, on the barrel the 18 major divisions and

one minor division was seen and on the thimble 19" division was coinciding with the
datum line of the barrel. What is the diameter of the rod ?

a) 18.69 mm
b) 9.59mm
¢) 9.69 mm

d) 18.119 mm

17



68.

69.

70.

YOI UIRd Y T AT AT 203 mm ¥ Yo F AT F & AT aeas o
& ~GeTadH A foheter 87

Across flat dimension of hexagonal face is 20v/3 mm. What is the minimum diameter
of rod required to machine the hexagon?

a) 20 mm
b) 40 mm
¢) 35 mm

d) 30 mm

T fafise afefay Hfaw &, AR Thet & S0TqeTeT AET Thel & 49138TeTeT T Tl
g1 O @ AT Fd TFd, AET Thor H T 24mm § qr 20a1 AR Thet fGemrer
T Theish AT Gl &1 TF H1 oard fohearm &2

In a typical vernier calliper, 50 divisions of the Vernier scale occupy 49 divisions on the
main scale. While measuring the diameter of a rod, the main scale reading shows 24mm

and the 20™ Vernier scale division coincides with the main scale.What is the diameter of
the rod ?

a) 244 mm
b) 24.04 mm
c) 24.2 mm

d) 24.02 mm

A 31.4 AT &1 Helel AT & AY, Fg SEIA & Th Tolc H 3T ael & faw 920
mm & 3= AT 3T & rpm & TIT Y|

Select the rpm of a high speed drill of @20 mm to drill a plate of Mild Steel with a
recommended cutting speed of 31.4 meter/minute

a) 628 rpm
b) 500 rpm
¢) 1000 rpm

d) 1256 rpm

18



71.

72.

73.

74.

3 grA/EeT FEHIER & Gelcd YT a1g @ AT 4#eT i o9 T gFT 5 mmxSmm 3T
HE I TF & AN &I 3MTeholed | U] HT 9fT Jfae o 2.1000/kg g

Calculate cost of 5 mmx5mm cross section square bar with a length of 4 meters made of
metal with density 3 grams/cubic centimetre. Unit cost of metal is Rs. 1000/kg.

a) Rs 300
b) Rs 30
¢) Rs 3000

d) Rs 500

IT # HedaAw Arfaf@a # & fraw gafta g7

Least count of the instrument is related to what amongst the following?

a) IRy & WY FATuTidF/directly proportional to precision

b) aReeErar & yfdellAd: FAEUTAR/inversely proportional to precision

¢) &Y Thel AT & @Y gAEIaH/directly proportional to main scale readings

d) 35 # & F$ wEi/none of the above

s g 9 e @A A 20H7g6 fhe €1 20H7& fav fages 0g +21ASHT § dor
20g6x fow fagesT -7 & -20A3H gl Bg T o & &g & AWedA Foadd & gar
S|

A hole and shaft combination has a 20H7g6 fit.For 20H7 deviations are 0 & +21

microns and for 20g6 deviationsare -7 & -20 micron. Find the maximum clearance
between hole and shaft?

a) 7 ATgHhIdA/microns

b) 20 ATSshIsl/microns
¢) 21 ASshle/microns
d) 41 AgHA/microns

12.9 35 Siee 9g1d &1 WHT ALY fohdar g2

What is the yield strength of a 12.9 grade bolt material.
a) 1200 MPa

b) 900 MPa

c) 1080 MPa

d) 300 MPa

19



75.

76.

77.

78.

200mmﬁwmwmmgv3o°m$ﬁvwgﬂmﬁmww
ST |

Determine the height of slip gauge for an angle of 30° using sine bar of 200 mm long.

a) 400 mm

b) 400 V3 mm

¢) 400/ /3 mm

d) 100 mm
grsfder P & 20 &y & dur a8 100 rpm™ AT &1 408y @ god aiferd faem & arfa
&I 3Teholel |

Driving gear has 20 teeth and it rotates with 100 rpm. Calculate the driven gear speed
having 40 teeth.

a) 10 rpm
b) 50 rpm
c) 200 rpm
d) 100 rpm

5MPa® g& & Scm x | cm &% # ST AT & §f HT 3HTheled Y|
Pressure of 5 MPa is applied on a Scm x 1 cm area. Calculate the force.

a) 25N
b) 250N
c) 2500 N
d) 25N

5 9 gATd &1 o FAET gl
The range of a screw pitch gauge is about
a) 25 mm d/to 30 mm

b) 0.35 mm @/to 5.0 mm

¢) 0.35 mm @/to 0.5 mm

d) 3.5 mm @/to 5.0 mm

20



79. Tw G H 4mm & A <ArE@ & 10N g1 IFIUT &F H 9dT oeny|
A joint has 10 rivets of 4mm dia each. Find out the shear area.

a) 40w
b) 10w
c) 160
d) 4m

80. 12#f1ex & URATT Ud ST & F0T & Jobd FHRIUT ST & &bl HT Il T

Find out the area of a right angled triangle, with a perimeter of 12 meters and
ahypotenuse of 5 meters.

a) 12 a7 #Hex/sq. meters
b) 6 et Hrex/sq. meters
) 24 g3 #FreX/sq. meters

d) 10 @t #Hre/sq. meters

sk sk sk s s sk okoskok
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